Original Problem

Steady-state Problem

Transient Problem

2
8_24218_14, O<x<a,0<t
ox k ot
u(0,t)=T,,u(a,t)=0, 0<t¢

u(x,0)=Tyx/a, 0<x<a

W=0,0<x<a
v(0)=T,,v(a)=0

S: v(x)=T,(1-x/a)
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0 ?+H:la—u,0<x<a,0<t
ox k ot

u(0,t) =0,u(a,t)=U,, 0<t
u(x,0)0=U,,0<x<a

V+H =0,0<x<a
v(0)=0,v(a)=U,

S: v(x)=U,x/a+ H(ax—x")/2
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a—1;[—yzu=la—u,0<x<a,0<t
ox k ot
u(0,t) =U,,u(a,t)=U,, 0<t¢

u(x,0)=U,sin(nx/2a),0<x<a

V'—y*v=0,0<x<a
v(0)=U,,v(a)=U,
v(x) =U, cosh(yx) +

: (U, =U, cosh(ya))sinh(yx)/sinh(ya)
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e =;5, O<x<a,0<t
X

ou ou
—(0,))=0,—(a,t) =0, O0<t¢t
8x( ) 8x( )

u(x,0)=Tx/a, 0<x<a

W=0,0<x<a
v(0)'=0,v'(a)=0

S: v(x) =const (undetermined)
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e =%5, O0<x<L,0<t
X

u(0,1) = TO,Z—z(L,t) =0, 0<t¢

u(x,00=7, 0<x<L

W=0,0<x<L
v(0)=T,,v'(L)=0

S: v(x) =T,

azu 5 1cu

— =" (T-u)+———,0<x<a,0<t
o Iy
_i(oat):()’u(aat):UO’ 0<t

u(x,0)=-U,cosfx/a),0<x<a

V'=—*(T-v),0<x<a
Vv'(0)=0,v(a)=U,

S: v(x) =T+ (U, —T)%gg




